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Tong hop dé thi ky thi HKIMO khéi I cdc nam

PE SO 1:
Logical Thinking / Tw duy l6-gic
Q1. 9 years ago, Peter was 24 years old. How old is he now?
9 nam trude, Peter 24 tuéi. Hoi hién nay anh dy bao nhiéu tudi?
Q2. According to the pattern shown below, what is the English letter in the space
(“_ ) provided?
Theo quy ludt dwdi ddy, chir cdi tiéng Anh trong khodng trong () dwoc cho
la gi?
F.HIJ,LN, ..
Q3. If yesterday was Friday, which day of the week will 10 days later be?
Néu ngay hém qua la thir sau thi 10 ngay sau do sé la thir may?
Q4. According to the pattern below, what is the number in the space (“__”)?
Theo quy ludt dwdi ddy, sé trong khodng trong la bao nhiéu?
13,17,21,25,29, , ...
Q5. According to the pattern below, how many # are there in the 6» Group?
Tw quy ludt hinh duwdi ddy, cé bao nhiéu # trong Nhom 67?

¥
# # #
g # # # #
# # # ¥ b #
# # # 4 #
id = -
§
1 274 Group 3¢ Group 4t Group
Group

Arithmetic / S6 hoc
Q6. What is the number should be in the blank if the equation is correct?
S6 nao sé dwgc dién vao 6 trong néu phwong trinh ding?
19+ =29
Q7. Find the value of 11 + 3 + 26 + 19 + 4 + 27.

Timgiatricua Il +3 +26+ 19 +4 +27.
Q8. If A represents the same 1-digit number, what is the value of A if the equation
IS correct?
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Neéu A biéu dién cung mot so co 1 chir so thi gia tri cua A la bao nhiéu néu dang
thurc dung?

.ﬂ‘%.
+ 2 4
3 8

Q9. Find the value of 36 — 9 + 4.
Tim gia tri cua 36 — 9 + 4.
Q10. Find thevalueof1 -2+3-4+5-6+7.
Timgiatricual —2+3—-4+5-6+7

Number Theory / Ly thuyét sé
Q11. By observing the numbers, which even number is the smallest?
Quan sdt cdc s6 dudi day hay cho biét s6 chan nao nhé nhdt?

38, 13,57, 15, 25, 96, 16

Q12. Ais an odd number.
Determinethat1 +2+3+4+5+6+7 +8+ 9+ Aisodd or even number.
A la mét 56 1é.
Xac dinh tong 1 +2 +3+4+5+6+7+8+ 9+ Alaséléhay sé chan.

Q13. Fill the lines with , “+” and , “— to make the equation below correct.
(Write down the complete equation on the answer sheet).
Pién cac ddu ,“ + va, “-“dé lam cho phwong trinh dwdi ddy ding. (Viét day di
phuwong trinh vio phiéu tra 16i).

9 4 5 3=7
Q14. Amy has 19 bananas and Bruce has 9 bananas. Amy gives Bruce some
bananas. How many banana(s) does Amy have to give Bruce to make them to
have the same number of bananas?
Amy ¢6 19 qua chudi va Bruce c¢é 9 qua chudi. Amy diea cho Bruce vai qua chudi.
Amy phdi cho Bruce bao nhiéu qud chudi dé ho ¢6 sé qud chudi bang nhau?
Q15. The numbers below follow the arithmetic sequence, what is the 7» number
of the sequence?

Cdc 56 duwéi ddy theo day sé c6 quy ludt, hoi sé thir 7 ciia day la sé nao?
95, 84,73, 62,51, ...
Geometry / Hinh hoc

Q16. How many square(s) is / are there in the figure below?



RodeMath

Tong hop dé thi ky thi HKIMO khéi 1 cdc ndm

Co bao nhiéu hinh vuong trong hinh dvwoi day?

Q17. How many side(s) is / are there in the polygon below?
Co bao nhiéu canh co trong da giac dudi day?

Q18. It is known that figure 1 is formed by 6 cubes. How many cube(s) is / are
there in figure 2 given that figure 2 is formed by some shapes as figure 1?

Puoc biét, hinh 1 do 6 hinh ldp phirong tao thanh. Cé bao nhiéu (cdc) khoi lip
phwong trong hinh 2 cho rang hinh 2 dwoc tao béi mot sé hinh nhuw hinh 1?

f

Figure 2

Figure 1

Q19. How many line segment(s) is / are there in the figure below?
C6 bao nhiéu doan thang trong hinh dwdi day?

Q20. How many interior angle(s) is / are there in the polygon below?
Co bao nhiéu goc trong trong hinh da giac duoi day?
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Combinatorics / Té hop
Q21. Alice has five $5 coins. At most how many $2 coins can she exchange?
Alice ¢6 nam déng 5 dé la. Hoi cé dy doi dwoc t6i da bao nhiéu dong 2 dé la?
Q22. What is the largest 3-digit even number by choosing 3 digits from 0, 6, 1
and 5? (Each digit can only be used once).
S6 ghc%n lon nhdt c6 3 chiv sé bang cach chon 3 chi so tir 0, 6, 1, 5 1a s6 nao?
(Moi chir so chi duoc su dung mot lan).
Q23. Choose 4 digits, without repetition, from 1, 2, 5, 7 and 9 to form two 2-digit
numbers and add them up. What is the minimum value of the sum?
Chon 4 chir 50, khong lap lai, n:r 1, 2, 5; 7 va 9 dé tao thanh hai sé ¢ 2 chir s6 va
cong chung lai. Gid tri nho nhdt cua tong la bao nhiéu?
Q24. Among the following answers, how many 2-digit numbers are there?
Trong s6 cdc cau tra 10i sau, ¢é bao nhiéu s6 ¢6 2 chir s6?
9+12,15-9,68+29,84+29,5+4,12-2
Q25. Which number below is the greatest?
S6 nao duwéi day la 1om nhat?
20191982, 20192641, 2019845, 20099521
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PE SO 2:
Logical Thinking / Tw duy lo-gic
Q1. A student needs to finish TIMO Final Round within 120 minutes. How many
minute(s) is / are required for 17 students to finish TIMO Final Round altogether?

Mot hoc sinh can hoan thanh Vong Chung két TIMO trong vong 120 phut. Hoi
can bao nhiéu phut dé 17 hoc sinh hoan thanh Vong Chung ket TIMO?
Q2. 6 April 2019 is Saturday. Which day of the week is 30 August this year?
Ngay 6 thang 4 nam 2019 la thir Bay. Hoi ngay 30 thdng 8 nam do la thir mdy?
Q3. After 5 years, Amy will be 18 years old. Jenny is 3 years old younger than
her. How old is Jenny now?
5 nam sau, Amy sé 18 tuéi. Jenny kém c6 3 tuéi. Hoi Jenny bdy gio bao nhiéu
tuoi?
Q4. According to the pattern shown below, what is the number in the blank?
Theo day s6 quy ludt dudi ddy, sé dién vao 6 trong la bao nhiéu?

2. 6, 10, 14, 18, 22, _ .

Q5. According to the pattern shown below, what is the number in the box?
Theo day sé quy ludt dwdi ddy, sé dién vao trong 6 vuéng la bao nhiéu?

16 16 16 16

Q6. Class 1A has 45 students queuing up in a row. If there are 9 students in front
of Amy, how many students are behind of Amy?

Lép 14 ¢6 45 hoc sinh xép hang dai lién tiép. Néu phia truée Amy ¢6 9 hoc sinh,
thi phia sau Amy co bao nhiéu hoc sinh?
Arithmetic / S6 hoc
Q7. Find the value of 14 + 47 + 26 + 3.
Tim gid tri cua 14 +47 + 26 + 3
Q8. Find the value of 28 + 17 — 8.
Tim gia tri cua 28 + 17 — 8
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Q9. If A is a 1-digit number, what is the value of A if the equation below is
correct?

Néu A la s6 ¢6 1 chiv s6 thi gid tri ciia A la bao nhiéu néu dang thirc dudi ddy
dung?

7 » A = 28

Q10. What is the number that should be filled in the blank if the equation below
IS correct?

S6 can dién vao 6 trong la bao nhiéu néu dang thire dudi ddy diing?

72— =67
Q11. If B is a 1-digit number, what is the value of B if the equation is correct?
Néu B la s6 ¢6 1 chir s6 thi gid tri ciia B la bao nhiéu néu ding thire diing?

18 — B = | B

Q12.Findthevalueof1+2+3+4+5+6+5+4+3+2+1.
Timgiatricual +2+3+4+5+6+5+4+3+2+ 1L

Number Theory / Ly thuyét sé
Q13. Amy has 26 apples and John has 8 apples. How many apple(s) does Amy
have to give John to make them to have the same number of apples?
Amy c6 26 qua tao va John c6 8 qua tdo. Amy phai cho John bao nhiéu qua tao
dé chung co so qua tao bang nhau?
Q14. Fill the lines with * +* and  — ’ to make the equation below correct. (Write
down the complete equation in the answer sheet)
Diéﬁ vao cdc dong voi ddu “+’va -’ dé lam cho phwong trinh duoi ddy dung.
(Viét lai phuong trinh ddy du trong phiéu tra loi)

1 5 6 9=9

Q15. 5 students have 20 balloons in total and each of them has a different number
of balloons. At least how many balloon(s) does the student with the most balloons
have?

5 hoc sinh ¢é tong céng 20 qua bong bay va moi ban cé mot sé qua béng bay khdc
nhau. Hoi hoc sinh ¢6 nhiéu bong bay nhdt cé it nhdt bao nhiéu qua bong bay?
Q16. How many 2-digit number(s) that have the unit digit 5 without repetitive
digits is / are there?

C6 bao nhiéu sé c6 2 chit s6 ma chir sé hang don vi la 5, cdc chir s6 khéng lip
lai?
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Q17. Determinetheresultof1+2+3+4+5+6+7+8+9+10+11+12is
odd or even.

ngd,inhké'tqudcdal +2+3+4+5+6+7+8+9+10+ 11+ 12laléhay
chan.

Q18. Find the largest 2-digit odd number without repeated digits.

Tim s6 1é 1om nhdt cé 2 chir s6 ma khéng cé chir s6 ldp lai.
Geometry / Hinh hoc

Q19. How many square(s) is / are there in the figure below?

C0 bao nhiéu hinh vuéng trong hinh dudi ddy?

Q20. At least how many cube(s) is / are there in the figure below?
C6 it nhat bao nhiéu khoi ldp phwong trong hinh dudi day?

Q21. How many side(s) is / are there in the polygon below?
Co bao nhiéu canh co trong da giac dvudi day?

Q22. According to the pattern shown below, what is the figure in the space
provided?

Theo quy ludt hinh bén duwéi, hinh ¢ khodng tréng la hinh gi?
AoCOOoAAOCOOAAOCOO ...
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Q23. How many triangle(s) is / are there in the figure below?
CO bao nhiéu tam gidc co trong hinh dudi day?

Q24. How many triangle(s) can be formed below?
C6 bao nhiéu tam gidc cé thé duwoc tao thanh dudi day?

Combinatorics / To hop

Q25. Separate 22 as the sum of two different integers. How many way(s) is / are
there? (Consider 5 + 6 and 6 + 5 as the same method)

Tach $6 22 thanh téng cia 2 s6 nguyén khdc nhau. C6 bao nhiéu cdch biéu dién
$0 22 (Coi 5 +6va6+ 35 lacung mot cach)
Q26. Choose 4 digits, without repetition, from 3, 5, 4 and 7 to form two 2-digit
numbers and add them up. What is the maximum value of the sum?
Chon 4 chik 50, khong lap lai, tir 3, 5, 4 va 7 dé to thanh hai s6 ¢d 2 chit so va
cong chung lai. Gia tri [on nhdt cua tong la bao nhiéu?
Q27. According to the following sequence for first 87th terms, how many odd
number(s) is / are there?
Trong 87 sé dau tién sau ddy, c6 bao nhiéu soé 16?

1,1,2,3,5,8,13,21, ...

Q28. Find the difference between the greatest 1-digit odd number and the smallest
2-digit even number.

Tim hiéu giita so lé lon nhat co 1 chir so va so chan nho nhdt co 2 chir so.
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Q29. Peter has 5 $1 coins and 7 $2 coins. How many $10 coins can he exchange?

Peter ¢6 5 dong 1 dé la va 7 dong 2 dé la. Anh ta doi dwoc bao nhiéu dong 10 dé
la?

Q30. Choose 2 digits, without repetition, from 2, 3, 5 and 8 to form two-digit
numbers. How many even number(s) is / are there?

Chon 2 chir s0, khong lap lai, tw 2, 3, 5va 8 dé tao thanh cac 56 6 hai chit s6. Co
bao nhiéu so chan?
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PE SO 3:
Q1. If tomorrow will be Thursday, which day of the week will be 6 days later?
Néu ngay mai la thir Naim, hoi 6 ngay niza 1a thir may?
A. Friday (Thu Sau) B. Wednesday (Tha Tu)
C. Tuesday (Thu Ba) D. Saturday (Tht Bay)

Q2. Peter is the youngest boy in his family. Given that his father has 4 sons and
Peter has 5 brother(s) and sister(s) in total. How many daughter(s) does Peter’s
father have?

Peter 1a cdu bé nhé tudi nhdt trong gia dinh. Bo cdu dy ¢6 4 nguoi con trai. Peter
cé tat ca 5 anh chi em. Vay bo cua Peter c6 bao nhiéu con gai?
Al B.2 C.3 D.4

Q3. 20 children form a column. Alice is the 5th starting from the front. How many
children behind her?

20 ban nho xép thanh mgt hang doc. Alice la nguoi thir 5 tinh tir dau hang. Hoi
co bao nhiéu nguoi phia sau ban ay?
A. 15 B. 14 C.6 D.5
Q4. From the pattern shown below, what is the number in the blank?
Duwa vao quy ludt dudi ddy, tim sé thich hop dién vao ché trong?
9. 17, 25, 33, 41, 49, __
A. 58 B. 57 C. 56 D. 55
Q5. Refer the pattern below, how many @are there in the 13" group?
Dwa vao quy ludt dudi ddy, cé bao nhiéu ki hi¢u @trong hinh thi 13?

e | o o | o | o
& © @
@
@ © ©
&
1t Ind
Group  Group 3% Group 4% Group
Hinh 1 Hinh 2 Hinh 3 Hinh 4
A. 20 B. 22 C.23 D. 24

Q6. Find the valueof 2+ 28 +6 + 14 + 17 + 13.
Timgiatricua2 +28 +6 + 14 + 17 + 13.
A. 70 B. 80 C.90 D. 100

10
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Q7. Find the value of 13 + 17 — 21.23
Timgiad trj cua 13 + 17 — 21.
A.8 B.9 C.10 D.11
Q8. Find the value of 9+8+7+6-5-4-3-2+1.
Timgiatricua9+8+7+6-5-4-3-2+1.
A. 14 B. 15 C.16 D. 17
Q9. Find the number that should be filled in the blank if this equation is correct.
Tim sé thich hgp dién vao ché trong dé dwoc phép tinh diing.
42— =22

A. 20 B. 19 C.18 D.21
Q10. Refer to the puzzle, find the value of M.
Tim gia tri cua M trong phép tinh dudi day.

21 -M-M=M
A.8 B.6 C.9 D.7

Q11. Alice has 15 pencils and Peter has 7 pencils. How many pencils does Alice
have to give Peter so that 2 friends have the same number of pencils?

Alice ¢6 15 chiéc bt chi va Peter c6 7 chiec bit chi. Hai Alice can cho Peter may
chiec but chi dé hai ban c6 so but chi bang nhau?

A. 4 B.8 C.5 D.6

Q12. Fill the lines with ‘+’ and ‘-’ to make the equation below correct.

pién ddu “+’ va —’ vao ché trong dé duwoc phép tinh diing.
2 7 _5 1=5

A2+7-5-1=5 B.2+7+5+1=5
C.2+7+5-1=5 D.2+7-5+1=5
Q13. Fill the lines with ‘+’ and ‘-’ to make the equation below correct.

pién ddu “+’ va ~’ vao ché trong dé dwoc phép tinh diing.

2 8 4 10 3=13
A.2+8+4-10+3=13 B.2+8-4+10+3=13
C.2+8-4+10-3=13 D.2+8+4-10-3=1324
Q14. The numbers below form an arithmetic sequence. What is the 7" number?
CAc s6 dudi ddy tao thanh mét day sé cdch déu. Hai sé thir 7 1a bao nhiéu?

58. 51, 44, 37. 30.
A. 19 B. 18 C. 17 D. 16
Q15. Determinethesum1+3+5+7 + 9+ 11 is odd or even.
Hoitong 1 +3 +5+ 7+ 9+ 11 1asé lé hay sé chan?

11
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A. Even (Chan)

B. Odd (L¢)

C. Neither odd nor even (Khéng chan khong 1¢)

D. Both odd and even (Vira chan vira 1é)

Q16. How many squares are there in the figure below?
C0 bao nhiéu hinh vudng trong hinh vé duoi ddy?

A. 10 B.11 C.12 D. 13

Q17. Candace places some cubes on top of each other to form the figure below.
At least how many cubes does she use?

Candace xép cac khoi ldp phirong chong 1én nhau dé dwoc hinh bén dwdi. Hoi co
dy da dung it nhat bao nhiéu khéi ldp phwong?

A

A.6 B.7 C.8 D.9
Q18. How many interior angles are there in the polygon below?
Da gidc dwoi ddy co bao nhiéu goc trong?

A. 16 B. 17 C.18 D. 1925
Q19. By observing the pattern from left to right, what is the missing figure?
Quan sat quy ludt te trai sang phdi, tim hinh b thiéu.

m. A, X, A . = m,L A kX, A  m m 7 Kk, A, . =
A m B. A C. % D.©

12
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Q20. According to the pattern below, what is the figure in the space provided?
Duwa vao quy ludt dudi ddy, tim hinh vé bj thiéu.

A m B. A C.® D. O
Q21. Which number below is the greatest?
Sé nao dwdi ddy la Ion nhdt?

20190513 . 20195479, 20189845 . 20196490
A. 20190513 B. 20195479

C. 20189845 D. 20196490

Q22. Choose 2 digits, without repetition, from 5, 1, 0 and 3 to form 2-digit odd
numbers. How many different numbers are there?

Chon 2 chit s6 khac nhau tir cac chit s6 5, 1, 0 va 3 dé tgo thanh sé 1é ¢6 2 chi
so. Hai c0 thé tao dwoc bao nhiéu so khac nhau?
A. 6 B.5 C. 4 D.3

Q23. According to the following numbers, what is the difference between the

number of odd number(s) and even number(s)?

Quan sat C4c s6 dudi ddy, tim hiéu gira sé heong S6 16 va s6 lirong s6 chan.
1,7,13, 14,21, 27, 30, 45

Al B. 2 C.3 D.4

Q24. What is the largest 3-digit even number formed by choosing 3 digits from

0,5,1and 3?

So chan Ién nhat c6 3 chit 6 ¢6 thé tao duroc tir 3 trong 5 chiF s6 0,5, 1 va 3 la

SO nao?

A. 531 B. 530 C. 103 D. 105

Q25. Andy, Bella and Charles make 7 cakes in total. Given that each person

makes at least one cake and their numbers of cake(s) must be different. Andy

makes the most cakes. How many cakes does Andy make?

Andy, Bella va Charles lam duoc tat ca 7 cai banh. Mdi nguoi lam it nhat mgt cai

banh va so banh cua cac ban la khac nhau. Andy lam dwoc nhiéu banh nhat. Hoi

Andy lam dwoc bao nhiéu cai banh?

A.5 B.4 C.3 D.7

13
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